
Time: 10 Minutes Paper Science 4 (T-3) Total Marks: 10

5th Month, 4th Week, 3rd  Day Unit No.7:  Exercise (SQ# iv-v) +
Constructed Response questions

Q.No.1 Write short answers 
(i) Describe any two advantages and disadvantages of deforestation. (3)



___________________________________________________________________

___________________________________________________________________

___________________________________________________________________

(ii) Differentiate between renewable and non-renewable resources. (3)



___________________________________________________________________

___________________________________________________________________

___________________________________________________________________

(iii) Jellyfish is a soft invertebrate. Can we obtain fossil of jellyfish? (4)

 


___________________________________________________________________

___________________________________________________________________

___________________________________________________________________
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